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120 kN/m
For the shown beam, use the ALY YYYvvevvy B
double integration: D - E
The deflection at D is * | J1m| 1m| 1m| lm

L\ H‘Q

(1 Point)
EI = 4 x 10* kN.m?

Q 2.0 mm Downward
O 2.5 mm Downward
O 3.1 mm Downward
O 3.9 mm Downward

O 4.5 mm Downward
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120 kN/m

YIVIVYS

For the shown beam, use the A

111%:;

double integration:

Ely =* (1 Point) | 2 m

300 + 5x* = 5(x - 2)* + Cix + &,
206 — 5x* + 5(x - 2)* + Cix + &2
300 — 10x* + 10(x = 2)* + Ci1x + G,
30x% - 5x* + 5(x - 2)* + Cix + &2

3003 = 5x* + Cix + Cy

O ORONONC,

20 kN
For the shown beam, use the
C

moment-area method: A
The slope of the tangent of ” 2
I |

the elastic curve at point C, 1 ,
theta Cis: * (1 Point)

EI =25%x10° kN.m?

() 0.0032 rad Clockwise
0.0064 rad Anticlockwise
0.0016 rad Clockwise

0.0016 degree Anticlockwise

O O O O

Zero



The nearest elastic curve of the shown beam is: * (1 Point)
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1120 kN/m
For the shown beam, use the ALY YYVYYYVYYVYD P
double integration: = éé_x
The bending moment in the | T 2m | 2m |
last part BC is: * (1 Point) - . .
120x — 60x? + 60(x — 2)?
180x + 60x? — 60(x — 2)?
180x — 60x? + 60(x — 2)?
180x — 120x2 + 120(x — 2)?
180x — 60x?
‘.’1
“1 120 kN/m
For the shown beam, use the ALY YYYvyvevvy B i
double integration: = é:\:_x
The deflection at B is * | T 27m 2 m |
(1 Point) f 1

EI = 4 x 10* kN.m?

10 mm Downward
15.5 mm Downward
5 mm Downward

10 mm UPward

O O O OO0

1.2 mm Downward



For the shown beam, use the
double integration:

The vertical reaction at the
hinged support is: *
(1 Point)

180 kN Upward
40 kN Upward
80 kN Upward

60 kN Upward

O O O O O

120 kN Upward

For the shown beam, use the
moment-area method:

The deviation of B relative to
the tangent of the elastic

curve at A, tB/A is: *
(1 Point)

El =25x10° kN.m?

0.016 m
0.032 m
zero

0.064 m

O O O O O

-0.032 m
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For the shown beam, use the
moment-area method:

The maximum downward
deflection is at a distance =
...... from A: * (1 Point)

El =25x10° kN.m?

For the shown beam, use the
moment-area method:

The bending moment at D is:

* (1 Point)

20 kN.m
-10 kN.m
40 kN.m

Zero

O ORONONC,

-20 kN.m
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For the shown beam, use the
moment-area method:

The bending moment at Ciis:
* (1 Point)

zero
-10 kN.m
10 kN.m

40 kN.m

O ORONONC,

20 kN.m

For the shown beam, use the
moment-area method:

The deviation of D relative to
the tangent of the elastic
curve at A, tD/Ais: *

(1 Point)

EI =25%x10° kN.m?

0.024 m
0.016m
-0.032 m
0.059 m

Zero

O ORONONC,

2 [ |2m|
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2 2m |




For the shown beam, use the
double integration:

C1lis:* (1 Point)

() ¢ =-180
() €1 =-60
O a=0
(O =20
() €1 =-20

For the shown beam, use the
double integration:

C2is: * (1 Point)

O O O OO0

R

A

'!_.dq

120 kN/m
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For the shown beam, use the
moment-area method:

The deviation of C relative to
the tangent of the elastic

curve at A, tC/Ais: *
(1 Point)

El =25x10° kN.m?

-0.032 m
0.016 m
zero

0.0053 m

> O O O O

N NATT7 o

For the shown beam, use the
moment-area method:

The slope of the tangent of
the elastic curve at point A,
theta Ais: * (1 Point)

El =25x10° kN.m?

Q 0.0016 degree Clockwise
() 0.0016 rad Clockwise
0.008 rad Clockwise
zero

0.0032 rad Clockwise

O O O

QOkNl TZOkN
A B
Ay C D &
L2 4 | 2m |
I | I L
ZOkNl TZOkN
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A C D &
L2 4 | 2m |
I | I L




For the shown beam, use the
moment-area method:

The maximum downward
deflection of the beam is: *
(1 Point)

El =25x10° kN.m?

14.2 mm
10.7 m
zero
10.7 mm

8.5 mm

O O O O O

For the shown beam, use the
double integration:

The slope at Ais * (1 Point)
EI = 4 x 10* kN. m?

0.0090 rad Clockwise
0.0755 rad Clockwise
0.5110 rad Anticlockwise

0.0121 rad Anticlockwise

O O O OO0

0.0045 rad Clockwise
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'!_‘dq

120 kN/m
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For the shown beam, use the
moment-area method:

The slope of the tangent of
the elastic curve at point D,
theta D is: * (1 Point)

El =25x10° kN.m?

() 0.0016 rad Clockwise
0.0064 rad Anticlockwise
0.0032 rad Clockwise
zero

0.0016 degree Anticlockwise

O O O O

For the shown beam, use the
double integration:

The vertical reaction at the
roller support is: * (1 Point)

() 80kN Upward
120 kN Upward
40 kN Upward

180 kN Upward

O O O O

60 kN Upward




For the shown beam, use the
moment-area method:

The vertical reaction at the

hinged support is: *
(1 Point)

10 kN Upward

20 kN Upward

Zero

O
O
(O 20 kN Downward
O
O

5 kN Upward

For the shown beam, use the
double integration:

Ely' =* (1 Point)

() $90xA2+20xA3-20(x-2)73+C_1$
() $60xA2-20x3+20(x-2)A3+C_1$

() $90xA2-20x3+20(x-2)A3+C_1$

() $90xA2-20x3+C_1$

() 90x? — 40x* +40(x — 2)> + C;

R
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QOkNl TZOkN
B
C D -
120 kN/m
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X
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Y| 120 kN/m
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For the shown beam, use the A

double integration:

The slope at Cis * (1 Point) | 2m |

EI = 4 x 10* kN.m?

O 0.4010 rad Anticlockwise
O 0.0121 rad Anticlockwise
0.0035 rad Anticlockwise

0.0755 rad Clockwise

O O O

0.0070 rad Anticlockwise

20 kN
For the shown beam, use the
moment-area method: A

A C

The deflection at D is: *
(1 Point) [ - | 4

EI =25%x10° kN.m?

zero
4.2 mm Downward
8.5 mm Downward

4.2 mm Upward

O O O OO0

10.7 mm Upward



For the shown beam, use the
double integration:

Boundary Conditions are: *
(1 Point)

At x=0, y=0 & at x=4, y=0
At x=0,y=0 & at x=2, y'=0
At x=0, y=0 & at x=4, y'=0
At x=0, y=0 & at x=0, y'=0

At x=2, y=0 & at x=4, y=0

O O O O O
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The nearest elastic curve of the shown beam is: * (1 Point)

~ e

(3)

O O O O



The nearest elastic curve of the shown beam is: * (1 Point)




moment-area method:

20 kN 20 kN
For the shown beam, use the l
C D

The deflection at C is: *
(1 Point)

EI =25x%x10° kN.m?

10.7 mm Downward
8.5 mm Upward
4.7 mm Downward

4.7 mm Upward

ONORONONC,

Zero

120 kN/m

For the shown beam, use the MITTIIITITIY: [ 4
double integration: D E 4; X

&

The deflection at Eis * | 1m | Im| 1lm| 1lm|
(1 Point) ' ' ' ' '

EI = 4 x 10* kN.m?

O 4.0 mm Downward
O 3.5 mm Downward
2.0 mm Downward

2.5 mm Downward

O O O

3.0 mm Downward



sl Sl wasl* (1 Point)
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